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BASIC Bits

Models I/11l, PMC-80, LNWS80

This is the first of a series of articles called BASIC

Bits. The purpose of this column will be to provide
.programming tips and tricks for the beginning and
-advanced BASIC programmer. In order to make this
column work, I need you! Your input will determine its
'worth. Let me know what you want me to discuss. You
ican be my parachute back to beginning BASIC if I get
too technical. The column is written at thelayman level.
‘Send in questions for me to answer and offer tips for
_your fellow computerist.
.~ I willlimit my discussions to the Model I and Model ITI
:computers and will concentrate on minimal systems —
perhaps a 16K Level II with no peripherals as a base
‘system, and no more than a one disk drive 48K system
with a printer as an upper limit. Any tips or tricks
relating to disk operating systems will be limited to
‘TRSDOS. I will show you how to get the best out of your
present system.

~ Through this column, you will have short utilities that
will increase the worth of your programs. Most of the
discussion will be in BASIC. Sometimes a short
machine language utility will be given. When this
happens, it will be given in the form of BASIC POKE
statements — a small BASIC subroutine that you can
.add to your program. No assembly language knowledge
will be needed either to use the routine or to add it to an
‘existing BASIC program.

~ Don Gruenther of Falls Church, VA, gives this tip
concerning use of the INPUT statement. Suppose you
-hawe to enter numerical data into your program by way
of INPUT statements and that data has quite a few
digits. Did you know that you can keep track of the
number of digits you are entering easier if you split it up
-with spaces? When entering numeric data, a space is an
‘unrecognized character. Try the following two-line
program:

10 INPUT A
20 PRINT “A = ™A

RUN the above program. When prompted to enter a
value, enter the numbers 12 34 5, complete with spaces,
and press ENTER. What do you get for A? You should

:get A = 12345, with no spaces, displayed on your video
screen. For small inputs, the utility of this tip isn’t
appreciated, but what if you were entering a value such

.as one billion? You could enter it as1 000 000 000.This
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helps split up the number so you can keep track of the
number of zeros.

You can use spaces in place of the commas that you
would use if you were writing it down on paper. A comma
in your computer input would terminate your input and
give you an “?Extra ignored” message. With the one
billion example, your answer will be given in
exponential notation as A =1E+09 unless your variable
is double precision.

What if you removed the semicolon in line 20?
Semicolons and commas are delimiters, or separators, to
tell the BASIC interpreter of your computer where you
want the information printed. The semicolon tells the
computer that no spaces are to be skipped before
printing the next value or string. The comma tells the
computer to skip to the next column, starting after the
last character printed. For this purpose, the computer
video screen is divided into four 16-byte columns. In
some cases, these delimiters are optional. Take, for
example, the following command:

PRINT A;CHR$(65);B;
TAB(29);C;“HOLD”;D

In this command, each of the semicolons may be
omitted and the printed line will be the same. When the
semicolon is used as a separator for a PRINT or LPRINT
statement, it may be omitted whenever another
separator is present. Separators can be any BASIC word
such as CHRS$, TAB, ASC, or even the quote mark ().

The following is a perfectly good line:

PRINTACHR$(65)B
TAB(29)C*“HOLD”D

You have saved seven characters over the previous
line and get the same output. Try it! Give A, B, C and D
values and enter each line. The value for A, the letter A,
the value B, TAB to 29, the value C, the word HOLD,
then the value D will be shown in exactly the same
format for each of the above examples. If you are trying
to conserve space because your programislong, thiscan
help. It will slightly speed up your program.

Question: In experimenting with the STRING$
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